Solutions to additional questions

Chapter 1

The missing code for agesmoke is 99.  This can be seen in Variable View.
The majority of data that are missing for agesmoke are for those who have never smoked; hence their data are missing because the question was not applicable.  Some data are missing from ex-smokers and smokers.  This may because these participants did not think the question was relevant to them – particularly with respect to ex-smokers (despite the questionnaire having clear signposts as to which questions each group should answer), they skipped over the question.  The other possibilities are that they had forgotten at what age they stated smoking, and therefore wrote nothing or just chose not to answer the question.  Some participants wrote “early 20s” or “20s” on the questionnaire, and whilst this provides some information on when participants started smoking, it was not an exact age that could be entered into a quantitative dataset without making assumptions, so I coded them as missing
Chapter 2

Click on Transform( Recode into Different Variables… to give the Recode into Different Variables dialog box.  Transfer nocig to the Numeric Variable -> Output Variable box.  Give the output variable a name (and label it if required) and click Change (Figure W1).
Figure W1: Recode into Different Variables dialog box
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Then click on Old and New Values… to give the Recode into Different Variables: Old and New Values dialog box.  In this box, 1 to 5 of the old values should be copied to the new variable (remember to click Add).  The old value 6 should be converted to System-missing, so that this dialog box looks like Figure W2.
Figure W2: Recode into Different Variables: Old and New Values dialog box
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Click Continue to return to the Recode into Different Variables dialog box, and then click OK.  Next go to Transform( Recode into Same Variables and transfer nocigs (the new variable) to the Numeric Variables box (Figure W3).
Figure W3: Recode into Same Variables dialog box
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Click on the If… box and change the radio button to Include if case satisfies condition: and put smoker = 2 | smoker = 3 in the large white box (smoker is the variable name, | means or) (Figure W4), then click Continue.
Figure W4: Recode into Same Variables: If Cases dialog box
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Next click on Old and New Values; and change System- or user-missing to 0 (click on Add) (Figure W5), then click Continue( OK.
Figure W5: Recode into Same Variables: Old and New Values dialog box
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Make sure this has done what you intended.  With a dataset as small as this one, it can be done by eye by sorting the nocig column; values 1 to 5 should be the same in nocigs, 6 in nocig should be missing in nocigs, missing in nocig should be 0 in nocigs where the participant is an ex-smoker or non-smoker.  Remember to change the number of decimal places to 0 and the Measure to Ordinal on Variable View (it is ordinal now that the current smoker, do not smoke cigarettes category has been removed).  Also give value labels.
Chapter 6

Thirty nine percent of participants thought smokers’ work breaks were the same length as non smokers’ work breaks (Figure W6).  This can be seen in the Valid Percent column.  This excludes those who did not respond to this question.  The percentage was calculated by (18/46)*100.
Figure W6: Frequency table showing the results of the question “Are smokers’ breaks…?”
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It should be noted that when presenting data such as these, output should not be copied and pasted from SPSS.  The appropriate data should be extracted from the output and retyped into a table of results.  Tables 6.1, 7.1 and 10.1 are examples of such tables.

Chapter 9

To discover whether there was a statistically significant difference in weight between those who did and did not report following a healthy diet, an independent samples t-test was used because there were two groups – those who reported having a healthy diet and those who reported not having a healthy diet.
There were 61 participants who reported following a healthy diet; they had a mean weight of 74kg (SD 13kg), and 15 participants who reported not following a healthy diet; they had a mean weight of 78kg (SD 17kg).  The mean difference in weight between these groups was 4.6kg (95% CI -3.6kg, 12.7kg).  The 95% CI means that we are 95% certain that the true population mean difference could be as little as -3.6kg (those who do not follow a healthy diet could be 3.6kg lighter), or as much as 12.7kg (those who report not following a healthy diet could be 12.7kg heavier).  This is not statistically significant p=0.266.  The significance can also be seen by looking at the p-value, which crosses 0 – the null value, indicating statistical significance has not been achieved (Figure W7).
Figure W7: T-test examining whether there is a difference in weight between those who did and did not report following a healthy diet
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